UGC NET 2021 Commerce 25N Shift 1

Topic:- Commerce_25NSH1_SHAAN_NOV21A

1) Whaich is the most potent driver of business transformation during Covid — 19 pandemic?

(1) Ethical consciousness
(2) Scale economies and pricing power
(3) Technology adoption and innovation

(4) Supply chain logistics and government interventions
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[Question ID = 1411][Question Description = Q01_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5641]
2. 2 [Option ID = 5642]
3. 3 [Option ID = 5643]
4. 4 [Option ID = 5644]

Correct Answer :-
e 1 [Option ID = 5641]

2) Counter Vailing Duties (CVD) are often imposed on imports to offset the impact of
(1) Predatory pricing (2) Export subsidies
(3) Dumping (4) Low cost financing
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[Question ID = 1412][Question Description = Q02_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5645]
2. 2 [Option ID = 5646]
3. 3 [Option ID = 5647]
4. 4 [Option ID = 5648]

Correct Answer :-
e 1 [Option ID = 5645]

To prevent opportunistic takeover of domestic firms amid Covid — 19 pandemic. Foreign
Direct Investment (FDI) from countries that share borders with India is allowed through

(1) Automatic route (2) Government route

(3) FIPB route (4) DPIIT route
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[Question ID = 1413][Question Description = Q03_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5649]
2. 2 [Option ID = 5650]



3. 3 [Option ID = 5651]
4. 4 [Option ID = 5652]

Correct Answer :-
e 1 [Option ID = 5649]

Factor conditions in Michael Porter's competitive advantage of Nations include
(1) Market size (2) Demand conditions
(3) Internationally competitive suppliers (4) Skilled labour and scientific knowledge
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[Question ID = 1414][Question Description = Q04_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5653]
2. 2 [Option ID = 5654]
3. 3 [Option ID = 5655]
4. 4 [Option ID = 5656]

Correct Answer :-
e 1 [Option ID = 5653]

In casze the purchasing company agrees to act as the agent of the vendor for collection of the
book debts. in the books of the purchasing company, the amount of debtors should be

credited to
(1) Vendor's debtors account (2) Vendor's suspense account
(3) Debtors account (4) Creditors account
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[Question ID = 1415][Question Description = Q05_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5657]
2. 2 [Option ID = 5658]

3. 3 [Option ID = 5659]
4. 4 [Option ID = 5660]

Correct Answer :-
e 1 [Option ID = 5657]

When the value of “Investment in subsidiary” in the holding company’s balance sheet 1s more
than the book value of the net assets acquired. the difference represents

(1) Capital reserve on consolidation (2) Goodwill on consolidation

(3) Minority interest (4) Post acquisition profit
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[Question ID = 1416][Question Description = Q06_Commerce_25NS1_SHAAN_NOV21]

1. 1 [Option ID = 5661]
2. 2 [Option ID = 5662]



3. 3 [Option ID = 5663]
4. 4 [Option ID = 5664]

Correct Answer :-
e 1 [Option ID = 5661]

7
) The basic method of valuing human assets is
(1) Adjustment (2) Amortization
(3 Capitalization (4) Quasiequity
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[Question ID = 1417][Question Description = Q07_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5665]
2. 2 [Option ID = 5666]
3. 3 [Option ID = 5667]
4. 4 [Option ID = 5668]

Correct Answer :-
e 1 [Option ID = 5665]

8) X andY are partners, sharing profits and losses in the ratio of 4 : 3. They admit Z into the

partnership for %ﬂi share. X and Y decide to share future profits in the ratio of 2 : 1. What is
the sacrificing ratio of X and Y?

1)  4:3 @ 13:8

3 8:13 @ 4:17
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[Question ID = 1418][Question Description = Q08_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5669]
2. 2 [Option ID = 5670]
3. 3 [Option ID = 5671]
4. 4 [Option ID = 5672]

Correct Answer :-
e 1 [Option ID = 5669]

The value of the firm in wealth maximisation objective 1s measured by

(1) Present value of all expected future cash flows
(2) All expected future cash flows

(3) Present value of all expected future profits

(4) All expected future profits
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[Question ID = 1419][Question Description = Q09_Commerce_25NS1_SHAAN_NOV21]



1 [Option ID = 5673]
2 [Option ID = 5674]
3 [Option ID = 5675]
4 [Option ID = 5676]
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Correct Answer :-
e 1 [Option ID = 5673]

10 For a decline in price, total revenue declines if the demand of the product is
(1) Inelastic (2) Elastic
(3) Unitary elastic (4) Zero elastic
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[Question ID = 1420][Question Description = Q10_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5677]
2. 2 [Option ID = 5678]
3. 3 [Option ID = 5679]
4. 4 [Option ID = 5680]

Correct Answer :-
e 1 [Option ID = 5677]

L In Cobb — Douglas production function. @ = AK®L® increasing returns to scale occurs when
(1) atbh=1 (2) K+L=1
(3) a+b=1 4 K+L<1
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[Question ID = 1421][Question Description = Q11_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5681]
2. 2 [Option ID = 5682]
3. 3 [Option ID = 5683]
4. 4 [Option ID = 5684]

Correct Answer :-
e 1 [Option ID = 5681]

The extreme case of non—price competition in an Oligopoly 1s

(1) Formation of cartels (2) Interdependent decision — making

(3) Attaining economies of scale (4) Formation of duopoly
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[Question ID = 1422][Question Description = Q12_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5685]
2. 2 [Option ID = 5686]
3. 3 [Option ID = 5687]
4. 4 [Option ID = 5688]

Correct Answer :-
e 1 [Option ID = 5685]



13)

Pecking order theory in finance is based on the assertion of

(1) Asyvmmetric information between managers and investors
(2) Symmetric information between managers and investors
(3) Outside information

(4) Asymmetric information among investors only
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[Question ID = 1423][Question Description = Q13_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5689]
2. 2 [Option ID = 5690]

3. 3 [Option ID = 5691]
4. 4 [Option ID = 5692]

Correct Answer :-
e 1 [Option ID = 5689]

If a project cost 1= T 40,000. Its stream of earning before depreciation and tax during first
vear through five years is expected to be ¥ 10.000, ¥ 12.000. ¥ 14.000., ¥ 16.000 and
¥ 20.000. Assume a 50% tax rate and depreciation on straight line basis; project’s ARR is

1)  14.40% @) 72%

(3 16% @) 55.56%
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[Question ID = 1424][Question Description = Q14_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5693]
2. 2 [Option ID = 5694]
3. 3 [Option ID = 5695]
4. 4 [Option ID = 5696]

Correct Answer :-
e 1 [Option ID = 5693]

15 ; A 5 2 1
) According to the theory of dividend, the firm should follow its investment policy of accepting

all positive NPV projects and paying out dividends if and only if, funds are available:

(1) Bird in hand theory (2) Investor rationality theory
(3) 100 percent retention theory (4) Residual theory
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[Question ID = 1425][Question Description = Q15_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5697]
2. 2 [Option ID = 5698]
3. 3 [Option ID = 5699]
4. 4 [Option ID = 5700]

Correct Answer :-
e 1 [Option ID = 5697]

In Securitisation when no assets are acquired and the collateral is fixed for the life of the
asset, the type of a structure 1s called as

(1) Revolving structure (2) Amortized structure
(3 Collateralized structure (4) Self — liguidating strucutre
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[Question ID = 1426][Question Description = Q16_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5701]
2. 2 [Option ID = 5702]
3. 3 [Option ID = 5703]
4. 4 [Option ID = 5704]

Correct Answer :-
e 1 [Option ID = 5701]

17) For a very large sample size the ratio between SEy; and o is 8: 40. Determine the sample
size n:
(1) 25 (?) b
(3) 4 4 16
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[Question ID = 1427][Question Description = Q17_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5705]
2. 2 [Option ID = 5706]
3. 3 [Option ID = 5707]
4. 4 [Option ID = 5708]

Correct Answer :-
e 1 [Option ID = 5705]

For a given set of paired data. the correlation and regression coefficients have been
calculated as being equal to r, bxy and byx respectively. Now, each of the values of the x
series 1s divided by 5. What effect does it have on each of these co — efficients?

(1) The three co—efficients remain unchanged

(2) There is no change in r but by x changes to byx/5 and bxy changes to 5 bxy

(3) Each of the co—efficients will be reduced to one fourth of its value.

(4) There is no change in r but byx changes to 5byx and bxy changes to bxy/5
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[Question ID = 1428][Question Description = Q18_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5709]
2. 2 [Option ID = 5710]

3. 3 [Option ID = 5711]
4. 4 [Option ID = 5712]

Correct Answer :-
e 1 [Option ID = 5709]

19 ; ; :
) Which of the following statement 1s correct?

(1) Co-efficient of variance = % x100

(2) If value in a series are negative, the standard deviation is also negative
(3) If value in a series multiplied by o . the variance would be multiplied by 36

(4) Standard deviation 1s equal to square of variance.
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[Question ID = 1429][Question Description = Q19_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5713]
2. 2 [Option ID = 5714]
3. 3 [Option ID = 5715]
4. 4 [Option ID = 5716]

Correct Answer :-
e 1 [Option ID = 5713]

20) Fora poisson distribution variable X, P(X = 0) = 2P(X = 1). its standard deviation would be:
1 2 @ 05
(3) V0.5 4 2
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[Question ID = 1430][Question Description = Q20_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5717]
2. 2 [Option ID = 5718]
3. 3 [Option ID = 5719]
4. 4 [Option ID = 5720]

Correct Answer :-
e 1 [Option ID = 5717]

21 . . . . .
) A test that contains a fair sample of the tasks and skills actually needed for the job in
question is:



(1) Construct validity (2)
(3) Test validity (4)

Content validity
Criterion validity
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[Question ID = 1431][Question Description = Q21_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5721]

2. 2 [Option ID = 5722]
3. 3 [Option ID = 5723]
4. 4 [Option ID = 5724]

Correct Answer :-
e 1 [Option ID = 5721]
22) : S : . o
Which among the following 18 not a primary determinant of orgamzational structure?

(1) Chain and span (2) Capacity and lower needs

(3) Power and control (4) Differentiation and integration
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[Question ID = 1432][Question Description = Q22_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5725]

2. 2 [Option ID = 5726]
3. 3 [Option ID = 5727]
4. 4 [Option ID = 5728]

Correct Answer :-
e 1 [Option ID = 5725]

23) An act in a way that results in the greatest good for the greatest number is:
(1) The golden rule (2) The utilitarian principle
(3) The four way test (4) Kant's categorical imperative
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[Question ID = 1433][Question Description = Q23_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5729]

2. 2 [Option ID = 5730]
3. 3 [Option ID = 5731]
4. 4 [Option ID = 5732]

Correct Answer :-
e 1 [Option ID = 5729]

24) People repeat behaviours that bring them satisfaction and pleasure and stop those that bring
them dissatisfaction or pain is known as:

(1) Law of exercise (2) Law of redo
(3) Law of effect (4) Law of readiness
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[Question ID = 1434][Question Description = Q24_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5733]
2. 2 [Option ID = 5734]

3. 3 [Option ID = 5735]
4. 4 [Option ID = 5736]

Correct Answer :-
e 1 [Option ID = 5733]

25 . . .
) Which one of the following statements is true about under the Basel I Accord. BCBS. fixed

the minimum requirement of capital fund for banks at ?

(1) 8 percent of the total risk weighted assets
(2) 9 percent of the total risk weighted assets
(3) 10 percent of the total risk weighted assets
(4) 1000 crore

freafefiga 4 & F-51 %9 79 27 90 [ 9usid & siatd dffso 3§60 6 O B H e
SAragged fepafi Fratfa <67
(1) e diftgy wrfea gfedafai @0 8 gl
(2) e SAfEyg wifta gfEafagi @ 9 ufqmE
(3) e wifigy wifea wfraafai %1 10 gfawr
(4) 1000 #Ig
[Question ID = 1435][Question Description = Q25_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5737]
2. 2 [Option ID = 5738]
3. 3 [Option ID = 5739]
4. 4 [Option ID = 5740]

Correct Answer :-
e 1 [Option ID = 5737]

Which of the following statements is correct relating to Indian Financial System?

(1) RBI has direct supervision over depositoriess and mutual funds.

(2) Monetary control is exercized through cash reserve ratio and statutory liquidity ratio.
(3 Primary dealers mainly deal in shares, mutual fund units.

(4 The decrease in statutory liquidity ratio contracts the credit creation.
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[Question ID = 1436][Question Description = Q26_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5741]
2. 2 [Option ID = 5742]
3. 3 [Option ID = 5743]
4. 4 [Option ID = 5744]

Correct Answer :-
e 1 [Option ID = 5741]



27)
Which one of the following 1s not one of the advantages of Derivatives market?

(1) Leveraging increases risk
(2) They enhance liquidity in the market for underlying assets
(3) They represent a form of insurance against risks

(4) They reduce price volatility
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[Question ID = 1437][Question Description = Q27_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5745]
2. 2 [Option ID = 5746]
3. 3 [Option ID = 5747]
4. 4 [Option ID = 5748]

Correct Answer :-
e 1 [Option ID = 5745]

Which one of the following statements is not true about Indian Money Market?

(1) Non — Banking Finance Companies (NBFCs) are financial institutions that constitute
organised component of money market.

(2) Money market mutual funds are allowed to sell units to corporates and individuals.
(3) A Well — developed money market 1s essential for a modern economy.

(4 In the Indian Money Market. the predominant place i1s enjoyed by government and
semi — government securities.
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[Question ID = 1438][Question Description = Q28_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5749]
2. 2 [Option ID = 5750]
3. 3 [Option ID = 5751]
4. 4 [Option ID = 5752]

Correct Answer :-
e 1 [Option ID = 5749]

Which of the following 1s not true while determining length of distribution channel?

(1) The larger the market size. the longer the channel.
(2) If the average lot size is large. it is better to have a longer channel.

(3 If the product and the market require a high level of service, it is advisable to keep a
shorter channel.



(4) If customers shop for an assortment of products, 1t demands for a water channel of
distribution.
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[Question ID = 1439][Question Description = Q29_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5753]
2. 2 [Option ID = 5754]
3. 3 [Option ID = 5755]
4. 4 [Option ID = 5756]

Correct Answer :-
e 1 [Option ID = 5753]

30)
Which of the following can be categorized as people processing services?
(1) Health care (2) Legal services
(3) Education (4) Transportation
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[Question ID = 1440][Question Description = Q30_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5757]
2. 2 [Option ID = 5758]
3. 3 [Option ID = 5759]
4. 4 [Option ID = 5760]

Correct Answer :-
e 1 [Option ID = 5757]

SBUs or products that have lost their position of leadership and are in the low growth
markets, are known as

(1) Star (2) Problem child

(3) Dog {(4) Cash cow
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[Question ID = 1441][Question Description = Q31_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5761]
2. 2 [Option ID = 5762]
3. 3 [Option ID = 5763]
4. 4 [Option ID = 5764]

Correct Answer :-
e 1 [Option ID = 5761]

32)  Which of the following is not a valid basis for market segmentation?

(1) Customer Based Segmentation
(2) Technology Oriented Segmentation

(2 Comnetition Felated Secermentatinn
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(4) Product Related Segmentation
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[Question ID = 1442][Question Description = Q32_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5765]
2. 2 [Option ID = 5766]
3. 3 [Option ID = 5767]

4. 4 [Option ID = 5768]

Correct Answer :-
e 1 [Option ID = 5765]

33) Which one of the following statements is a promissory note?
(1) I promise to pay @ Rs.7.000, 7 days after my marriage.
(2) On demand. I promise to pay B or bearer Rs. 5.000

(3) I promise to pay Rs. 5.000 on C's death provided C leaves with me enough money to
pay that sum.

(4) I acknowledge to be indebted to you for Rs. 10,000 to be paid on demand for value
received.

fafafiga 4 | ®F-51 w99 va yiasms 2

(1) o 39 framz % 7 fedi & @e Q Fi 7,000 F & WAH HH 1 a9 Gl 7
(2)  H 9@ fFd SH W B A¥E1 9RF i 5,000 ¥4 F WAH FH &I 999 <A 7

(3) H C %l g ™ 5,000 ¥ F WIAH 1 H1 94 <l 2 99 b C UL IH 39 L1791 1 PTAH
EERGRC i IRt HR EC e |G ]

(4 s ufd 10,000 w78 @1 ol A et avan § o s ge @ fou g & st fen
el

[Question ID = 1443][Question Description = Q33_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5769]
2. 2 [Option ID = 5770]
3. 3 [Option ID = 5771]
4. 4 [Option ID = 5772]

Correct Answer :-
e 1 [Option ID = 5769]

A claim for ‘quantum meruit’ cannot succeed:

(1) When a divisible contract is partly performed.

(2) When an indivisible contract for a lumpsum is partly performed.
(3) When a contract is discovered to be unenforceable due to some technical defect.
(4) In the case of breach of contract, the aggrieved party can claim reasonable

compensation for what he has done under the contract.

‘FETen Ui’ #1 gl % T8 8 FAl 2

(1) & ush faursy Gfaer sivm: Fonfea i ol 2

(2) w4 foell vebya vty 7 sifawrsy Afge sva: Fonfea @ 21

(3) & T wfagr +i wfaw qih 2 6 92 | 3 @] FH F0E TR A 2



(4)  Higg Iectad & wHe H, Fifed a1 Hiae & FER dhaTa YA & g F dhdl 2

[Question ID = 1444][Question Description = Q34_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5773]
2. 2 [Option ID = 5774]
3. 3 [Option ID = 5775]
4. 4 [Option ID = 5776]

Correct Answer :-
e 1 [Option ID = 5773]

The first offence for infringement of copyright can be for a maximum of imprisonment for a
term of

(1) 6 month and a fine of Rs. 20,000
(2) 3 years and a fine of Rs. 50,000
(3) 3 years and a fine of Rs. 2.00,000
(4) 1 year and a fine of Rs. 3.00,000

FfiIge IectaH o T WY 2 HRIEE 6l Fa 6l Algehan srafy 2 -

(1) 6 &M 31 20,000 ¥93 &1 319 €2
(2) 3 @4 37 50,000 ¥92 1 314 g8
(3) 3= 3fl 2,00,000 %74 F1 7Y €2
(4) 1 =4 371 3.00.000 %78 =1 314 <2
[Question ID = 1445][Question Description = Q35_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5777]
2. 2 [Option ID = 5778]
3. 3 [Option ID = 5779]

4. 4 [Option ID = 5780]

Correct Answer :-
e 1 [Option ID = 5777]

36) Which one of the following conditions does not constitute a valid agency by necessity?

(1) There should have been actual and definite commercial necessity for the agent to act
promptly.

(2) The agent should have acted bonafide and for the benefit of the principal.

(3) The agent should have adopted the most reasonable and practicable course under the
circumstances.
(4) Destruction of the subject matter of the contract of agency.

ffefiaa § |3 sH-4 96 AEavaHa-ER Uh d9-Usf= 81 adl ?

(1) vz gR1 derdl Yo & fmu TH & fore anafas s Hivaa arfofsas smavasa 2 =mfzu)
(2)  wive &l Jegdl § 3R 3 i (eue) & eny 7 @m & =it

(3)  wsvz & uitfeafaei & siafa gaifees ddhama i sraaTfie @l s =ifE)

(4)  wii o Hfag $ faraas # aw @ S

[Question ID = 1446][Question Description = Q36_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5781]
2. 2 [Option ID = 5782]
3. 3 [Option ID = 5783]
4. 4 [Option ID = 5784]

Correct Answer :-
e 1 [Option ID = 5781]



37 . . . . . . .
) If assesssee 1s engaged In the business of growing and manufacturing tea in India, the
non-agricultural income in that case be:

(1) 40% the income from such business
(2) 25% the income from such business
(3) 60% the income from such business
(4) 75% the income from such business

Ife Fuifedt wra 4 = £ YeEn iR 377me % sgadrg 0 o 2, ° 39 ud 4 1 $fy s = a2

(1) U sra|d 8 37" %1 40 yfder
(2)  UH SHEaEE | A H 25 YA
(3)  UH =HaEE | A % 60 yfavd
(4) U SqgOm™ O 39 #5175 gfderd

[Question ID = 1447][Question Description = Q37_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5785]
2. 2 [Option ID = 5786]
3. 3 [Option ID = 5787]
4. 4 [Option ID = 5788]

Correct Answer :-
e 1 [Option ID = 5785]

38
) AMT provisions are applicable on:
(1) Corporate assessee (2) Non Corporate assessee
(3) HUF (40 An Individual

v wq F grEuE e A 2

(1)  Fruie +1 fuifeedt o (2) T Fnaie w1 i o
(3) TEITEW (4) foddt safdq w

[Question ID = 1448][Question Description = Q38_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5789]
2. 2 [Option ID = 5790]
3. 3 [Option ID = 5791]
4. 4 [Option ID = 5792]

Correct Answer :-
e 1 [Option ID = 5789]

39) X, an employee of the private company. gets Rs.30.000 p.m. basic salary and entitled to

Rs.1.500 p.m. as entertainment allowance. What are the deductions u/s 16(ii) from gross
salary in respect of entertainment allowance?

(1)  Rs.5.000 (2) Rs.18.000
(3)  Rs.72.000 @) Nil

fasft shofi & veh =l X 1 30,000 #90 ufd uTE gt o fuedr @ s oHieH 99 % w9 1 1,500
w90 yfd HI2 &1 BheH &1 BAESA 9 o Ha9 U el d4 | 961 16(i) & 3ieid ferat st anfi 7

(1) 5,000 %7 (2) 18,000 %90
(3)  72.000 ¥ @4 A

[Question ID = 1449][Question Description = Q39_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5793]
2. 2 [Option ID = 5794]
3. 3 [Option ID = 5795]
4. 4 [Option ID = 5796]

Correct Answer :-
e 1 [Option ID = 5793]



40) . : . : : e
Which of the following provident fund 1s approved by the provident fund commissioner?

(1) Statutory provident fund (2) Recognised provident fund
(3) Unrecognised provident fund (4) Public provident fund

sy fafls srger g fafafiaa § 3 SR-d wfas ffa @0 s s 22
(1)  =ifafas wfasy ffy (2) e e wfasy fafa
(3) v wree sfasy fafy (4) @k s fafa

[Question ID = 1450][Question Description = Q40_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5797]
2. 2 [Option ID = 5798]
3. 3 [Option ID = 5799]
4. 4 [Option ID = 5800]

Correct Answer :-
e 1 [Option ID = 5797]

Which of the following institutions are included in the ‘World Bank Group™?

(A) International Finance Corporation

(B) International Monetary Fund

(C) World Trade Organization

(D) Multilateral Investment Guarantee Agency

(E) International Development Association

Choose the correct answer from the options given below :
(1) A, B and C only

(2) A B and D only

(3) A B.D and E only

(4) A. D and E only

FrAferfia o siA-+i qeani ‘g o% wge ° Afiad 27
(A)  saursda fam fam

(B) i gz wm

(C)  fawa saman wraA

(D)  Hedietarel gz Tid) wiH

(E)  siaured fawm g4

e feu mu faereqi § 4 g 3w #1 =79 Fifaw .

(1) %aa A.B3ilt C

(2) Haa A, B3t D

(3) had A.B.D3H E

(4) FId A. DI E

[Question ID = 1451][Question Description = Q41_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5801]
2. 2 [Option ID = 5802]
3. 3 [Option ID = 5803]
4. 4 [Option ID = 5804]

Correct Answer :-
e 1 [Option ID = 5801]

42 : e S 2 o . : .
) Corporate social responsibility 1s the continuing commitment by business to behave ethically

and contribute to

(A) Political awareness, social security and inclusion

(B) Public health. education and literacy



(C) Maintaining ecological balances and protecting environment
(D) Gender diversity, profiteering and market controlling

(E) Rendering. Sponsoring and donating to social and charitable activities

Choose the correct answer from the options given below :

(1) A, B and D only
(2) B. C and E only
(3) C.D and E only
(4) A.Band Conly

HIIie HWITAH I & daeqd 8 fds sgaar & 3R Fefafaa 3 arem & & sgaai §i
Hed ufdagd

(A)  TraHiTas AR, WA Ja i wrEeE

(B) @k waw, fuam i e

(C)  wftfefaehl Hqeri i 910 TEHT 3R TaTe i e H

(D)  fom fafaua, garengdl s aram e

() amifas a g forampemy s, grEifad s w39 fou gr &

= few o faeneqi § 9 @d 3T @ =999 dife
(1) %aa A. B3l D

(2) %ad B. C 3 E
(3) %9d C.D 3N E
(4) %99 A, B3 C

[Question ID = 1452][Question Description = Q42_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5805]

2. 2 [Option ID = 5806]

3. 3 [Option ID = 5807]

4. 4 [Option ID = 5808]

Correct Answer :-

e 1 [Option ID = 5805]

43)  ‘Firm characteristics that help managers identify core compentencies include :

(A) Potential access to wide variety of markets
(B) Significantly contribute to the perceived customer benefits
(C) Value accretive and non competitive

(D)  Distinctive and difficult for competitors to imitate

Choose the most appropriate answer from the options given below:

(1) A, B and C only
(2) B. Cand D only
(3) A. B and D only

(4) A. CandD only

yfar & fom sifiseami & vaus ga aaasi 6 vm=m s 8, 30 efafas afifaq 2

() fafay uen & Al @6 B9 TE



(B) W& & Ydld B a9l @il H Haedqul GrTeHE Al
(C)  geg-sfyads s -gfagrf
(D)  fafsre si ufenfied & fau s @ 4 *fe

Hr fgu o fogeredl § | wad I9gE 39 &1 95 Hifa
(1) Had A B3l C
(2) %gd B.C3Mm D
(3) 9d A.B3ED
(49 #ad A C3HRD

[Question ID = 1453][Question Description = Q43_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5809]
2. 2 [Option ID = 5810]
3. 3 [Option ID = 5811]
4. 4 [Option ID = 5812]

Correct Answer :-
e 1 [Option ID = 5809]

Which of the following distinction(s) is/are not correct between public issue and rights issue?
(A) In public issue, applications for shares are invited from the general public and in
rights issue, the shares are offered to existing shareholders.

(B) In public issue there is no question of any over-subscription and in rights issue the
shares may be under subscribed or over subscribed leading to prorata allotment.

(C) The price of public 1ssue 1s generally less than the market price and in rights issue,
the price is deliberately made less than the market price.

(D) In a public issue, the communication of the 1ssue 1s through prospects or
advertisements and in rights issue the communication is between the company and
the existing members of the company.

Choose the most appropriate answer from the options given below :
(1) B only

(2) D only

(3) A and C only

(4) C and D only

Hreate e s sfusn e % & afafiea O 9 $0 @ 5@ a8 38 20

(A) A A § SR % fofo sded W AR 3 5P STd 2@ o7 sfaser TR 0 s b

B) graafs e O smafied & wre gare T8 @1 3 sfusr faie O seri s sieg sfies @
st sifen fern o meban 2 formd aumaE sifaea 2m 2

(C) HdsH® FFig $1 Fma qmd. 99R fima 3 #8 2d 2 iR wfusn e d fma =
G AR i § &9 6l Al A

(D)  HEaAf Ry § i % e T gfae @ s & grem 9 g 2 s sifuer i
T w0y il 3T S & HieE deedi & <" # 2)

A9 foqu v fashedi 4 4 g8 39 I F1 G54 HIAU

(1) 94 B

(2) HEaAD

(3) %EE A R C

(4 HFd C 3R D



[Question ID = 1454][Question Description = Q44_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5813]
2. 2 [Option ID = 5814]
3. 3 [Option ID = 5815]
4. 4 [Option ID = 5816]

Correct Answer :-
e 1 [Option ID = 5813]

According to AS-2, which of the following costs should be included in valuing the inventories
of a manufacturing company?

(A) Freight and insurance

(B) Carriage outwards

(C) Depreciation of factory plant

(D) General administrative overheads

Choose the most appropriate answer from the options given below :

(1) A and D only
(2) A Band D only
(3) B and C only
(4) A and C only

T -2 F SAFAN SHA F T w9 F T F gediEA § Aettga 8 o 65 S S e =
ST =R

(A) WIS W s

(B)  HoE® HIS

(C)  FFEME T97 T TG

(D) = TIEEE S

A= fou o fomedl § @ HeE S9ed S 0 9AA i
(1) “asd A =R D
(2) FaA A B#RD
(3) FEw B3R C
(4) FEA A #RC
[Question ID = 1455][Question Description = Q45_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5817]
2. 2 [Option ID = 5818]
3. 3 [Option ID = 5819]

4. 4 [Option ID = 5820]

Correct Answer :-
e 1 [Option ID = 5817]

Which of the following rules stands true while preparing schedule of changes in working
capital?

(A) An Increase in current assets Increases working capital

(B) An increase in current assets decreases working capital

(C) An Increase in current liabilities decreases working capital

(D)  An increase in current liabilities increases working capital

Choose the most appropriate answer from the options given below :

i Y F, GO 0 ety



N =F bt e, oW g SR v o

(2) A and D only
(3) B and D only
(4) A, B and C only

freferias 4 & FiA-0 Fem Feeie g § fEdal S g= A e 6 gey § w2
(A = Tl afg @ s O § gty 2 2

(B) = weuEl § Afg | i gl wedt 21

(C) = gamaT | 9fg wH & Fefie oft wedt 2

(D) = s A 2R A e T e 2

Hr fou U faredl | @ T ST 39 6 9 A
(1) =ae A 3k C

(2) FEHAFERD

(3) =ae B @D

(4) FaA A BFRC

[Question ID = 1456][Question Description = Q46_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5821]

2. 2 [Option ID = 5822]

3. 3 [Option ID = 5823]

4. 4 [Option ID = 5824]

Correct Answer :-

& 1 [Option ID = 5821]

Characteristics constituting the core of consumers rationality includes:
(A) Homogeneous expectations

(B) Non — satiation

(C) Selfish motive

(D) Clarity of preferences

(E) Possession of information

Choose the correct answer from the options given below :

(1) A. B and C only
(2) B. C and D only
(3) A.B.Cand D only
(4) B. C. D and E only

U1 1 gl difdeal & sifuerEi § wifire 2 2
(A)  HEEY YT

B) s

() Tared-yfa vareE

(D) g & ered

(E)  HeA T

=l fou o fawedi 8 A W& I F1 FEH HIfAC



(1) “aet A, B3t C
(2) 4w B, C 3l D
(3) %99 A, B,C3N D
(4 9@ B,C.D3RE
[Question ID = 1457][Question Description = Q47_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5825]
2. 2 [Option ID = 5826]
3. 3 [Option ID = 5827]
4. 4 [Option ID = 5828]
Correct Answer :-

e 1 [Option ID = 5825]

48 : g i
) Why 1s an indifference curve convex to the origin?

(A) Indifference curve slope downward to the right
(B) Two commodities are imprefect substitutes
(C) Declining marginal rate of substitution between commodities

(D) Diminishing marginal utilities
Choose the most appropriate answer from the options given below :

(1) A and B only
(2) B and C only
(3) C and D only
(4) A and D only

U SR 9% W9 gel § Ieael #41 A 27

(A)  FHIE @k glamifgen 3 i< il I gaH 2l 2l
(B) @l S Y SfEET— 8

(C)  a=3l & <9 iz 6 sraam HidmE &

(D)  BEYE HHrd 9

i fau mu fgshedi 4 | HaH I9E I &1 954 iU
(1) %dad A3 B
(2) %Fdad B3l C
(3) d9d C 3 D
(4 &H9d A3 D
[Question ID = 1458][Question Description = Q48_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5829]
2. 2 [Option ID = 5830]
3. 3 [Option ID = 5831]
4. 4 [Option ID = 5832]
Correct Answer :-

e 1 [Option ID = 5829]

Finanecial crises takes the form of

(A) Currency crisis
(B) Banking crisis

(C) Systematic financial crisis



(D) Foreign debt crisis

Choose the correct answer from the options given below :

(1) A B, Conly
(2) A B, Donly
(3) B. C. D only
(4) A B. C, D only

ferefra Hape fpfefiad =g & 2 -
(A) o HE
(B)  dfh Hawe

(C)  =adfed fasdia Hae

(D) faqufi w1 Hae

4 feu o faeredl W | HeH 3T TN &1 I HIfA0
(1) 49 A.B. C
(2) %99 A.B.D
(3) ada B.C.D
(4) %9 A, B, C.D
[Question ID = 1459][Question Description = Q49_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5833]
2. 2 [Option ID = 5834]
3. 3 [Option ID = 5835]
4. 4 [Option ID = 5836]
Correct Answer :-

e 1 [Option ID = 5833]

Following are the problems that mar an optimal international diversification:

(A) Unfavourable exchange rate movements
(B) Frictions in international markets
(C) Manipulation of security prices

(D)  Unequal access to information

Choose the most appropriate answer from the options given below :
(1) A. B, Conly

(2) B. C, Donly

(3) A, C.Donly

(4) A, B. C,Donly

goeAy saundTy fafasdiamno & famed arefi auend Fafofiaa 2 .

A fafm @ 0 yfadd sar-=eE
(B)  HFT FrAE G ey
(€  ufayfa i § ak

(D) g1 d% FEYH 9Ed



A4 fau u faedi 4 9 wey 39ge I &l 954 FIfa
(1) %ad A.B. C
(2) %ad B. C, D
(3 %9 A.C.D
(4 %9 A.B, C.D
[Question ID = 1460][Question Description = Q50_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5837]
2. 2 [Option ID = 5838]
3. 3 [Option ID = 5839]
4. 4 [Option ID = 5840]
Correct Answer :-

e 1 [Option ID = 5837]

Which of the following statement is correct about Mann — Whitney U — test?

(A) It 1s non parametric test
(B) It requires that samples are independent
(C) It can be used when populations involved are normally distributed

(D) It 1s used to test the null hypothesis that the two populations are mvolved are
identical.

(E) It is always a two tailed test.

Choose the correct answer from the options given below :

(1) A B. D only
(2) A C,Donly
(3) A.D. E only
(4) A, B. E only
Tl 3-wfiam + 99 § FeieiEd § 3 FE-91 F9E O 27
(A) T T-uEte T 2|
(B) =HF &0 3ETTF 2 T Tiagel = =
(C) = aftales 9= qT=d: &did 51, @ S T A 9 2
(D) SEH W 36 [ WU & WHE & T T S & 6 afstea 5 s aee A

(E) == =9 fgr=ae wiiem 3

Hr= 750 U forreTl | 4 HeE ST 30 o =9I I
(1) Ha=A.B.D
(2) HaAA.C.D
(3) FaAAD.E
(4 FawA B E
[Question ID = 1461][Question Description = Q51_Commerce_25NS1_SHAAN_NOV21]
1. 1 [Option ID = 5841]
2. 2 [Option ID = 5842]
3. 3 [Option ID = 5843]
4. 4 [Option ID = 5844]

Correct Answer :-
e 1 [Option ID = 5841]



